HERSEBRS
e=g O T —

IO LT oW THERITOEITENS 6 D BB E 3T B U B AT R AT R
B4 @ B8 % Z v T2 0 o T B AR T IR T AT B 4 22 4 B A 5 SR DR
EIL VR EERRATHEBVWELEY,

1 M ERCET LSRR
6, 645 M

2 B &R HRER
5, 316

3 PRI B &3 Y



AFEEE 2 &40 (% 5 HER)

BRI B BB R E

EITEI B & O E AR
1 SR
X ia) Ei A OB o® & 4
3 H 4 1,065 M@ 1,065 [
4 A% 1,070 @ 1,070 M
5 A 4 1,100 [ 1,100 [
6-H 4 1,120 { 1,120 [
7 B4y 1,140 1,140 M
8 A4 1,150 M 1, 150
& &t 6, 645 M 6, 645 [
2 1B E&ARFREE
6,645 H X 0. 8 = 5 316
( #Bhw&EE X W8 xr = WEh&E )

(R0 &)



BEC 1 B (B 5 & EE)
w3 FEEEFRITETR @ &ZAHFEE (BHD)

“f 4 E 3 ASH

HiEd HEBAIEHBRS
Sk B N &

DLW TEHET 0BRSS B3 I B LA B IT B R

B DA% 2T o\ o CREEEE AT AT EAT B B & 22 T AT 5 RO
FLXYVEREREERATHEREEZ LET,

1 B EBIIET AR
7, 190 4

2 BT S
5, 7521

3 BEREFE HARD & B Y




BIGEE 2 Bkl (88 5 &BIMR)

T AT BT R B & MEAREF

KT B 1 Bl & O R R PR

1 B RER

X 4 EOk % WO N F
9 R4 1,165[% 1,165 4
10A% 1,175 [ 1,175 /[
1 1A% 1,195[@ 1,190 M
12H%4 Lméﬂ 1,205 M
1L A4 Lméﬁ 1,215 M
2 A4 1,240 @ 1,240 [
& at 7,190 [ 7,190 [
2 B A4
7,190 X 0. 8 =_5.72H
( B S X oM By ® = WEheE )

(F2RWE0 Y )



